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(B)2019%4H818 (ZF)2020%F3A31H
HEEWFEAD XBS (Bfz:A)
B ® ® BH REE (A BI4EE (B) [1&iF5E(A)-(B) fi =
NERREZEIA 738,393,000 703,975,000 34,418,000
REEUEZEIA 488,289,000( 499,900,000 -11,611,000
y ZTDHDEZEILA 460,000 243,000 217,000
R & AEF EHEIEILA 76,000 95,000 -19,000
=| |[REREFHRIA 1,435,000 1,335,000 100,000
% | A |ZBAIEREZIEIA 1,350,000 1,325,000 25,000
E ZDHDIXA 9,496,000 12,373,000 -2,877,000
Ej] RBEETMEEFICLSEEEMEE
Iz EEFHIRAF (1) | 1,239,499,000] 1,219,246,000 20,253,000
ES ANGEEZH 892,876,000( 836,313,000 56,563,000
% EEETH 153,539,000 163,024,000 -9,485,000
| X EHEXH 111,379,000, 113,613,000 -2,234,000
X FAEEBEHEE 1,860,000 1,860,000
H FTHIFEZHE 1,659,000 2,139,000 -480,000
ZTNDMDZH 6,746,000 7,043,000 -297,000
EHXEEIZHE(2) | 1,168,059,000( 1,123,992,000 44,067,000
BREDREWIEH(3)=(1)—(2) 71,440,000 95,254,000/ -23,814,000
MR B imSFHEIEINA 9,500,000 9,500,000
IR | MR BEEFMEUNA
“ RIEESEASIIA
=1 . [EE&EETARA 100,000 ~100,000
E | A | 200 ERSICLBIA
g R EEFIAL (4) 9,500,000 9,600,000 -100,000
- BEELHBASTLEETH 33,988,000 33,988,000
£ | X |BEEERGXH 58,058,000{ 14,230,000 43,828,000
Z BEEEERA BEXH
I T7AF VRN —RBEHEDEFZH
% H |zothn@sEmsicistH
e RS X HE (5) 92,046,000 48,218,000 43,828,000
mHRBEEESNXEE(6)=(4)—(5)| -82546,000] -38,618,000 -43,928,000
EHEEESHASTSEETHESWRA
RHEEESHBASIA
gy [FAE M EERRA 240,000 170,000 70,000
BEFMIZFEENIRA
BN B ERAULA 30,782,000 1,697,000 29,085,000
z| A HARAERLEASILA
o AR S EREASIA
s DD IEEN S HIIA
o DD FEUNAE (7) 31,022,000 1,867,000 29,155,000
= REEESBASTEEERE
i;,J REEMEXH
- BEFMAEIMERH
& BYEEXH 32,572,000 51,471,000 -18,899,000
z | X [EXESMEMHEG S XM
I NERSERPEFETH
% FER SR ASEF I
H AR SR ESEASEFTH
FERSHBASIH
WERSHEBRAESTH
ZTDMDFEEICKDTH 8,728,000 -8,728,000
ZTDMDFER T HIE (8) 32,572,000 60,199,000] -27,627,000
ZOHOFHESRLEM(9)=(7)—(8) -1,550,000] -58,332,000 56,782,000
FEEZH(10) 533,000 1,520,000 -987,000
LR SINZEZEE(11)=(3)+(6)+(9)—(10) —13,189,000 —3,216,000 —9,973’000
AR EEER(12) 284,608,546 287,824,546 -3,216,000
LPRZHEERE(11)+(12)[ 271,419546] 284,608,546] -13,189,000




